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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 
 

1. ¶ÛÛ¶ÛÛ ¸ÛÛýÛÛ¶ÛÛ Š²Ûé•ÛÛé¶Ûà ÈýÛÛ”ýÛÛ …Û¸Ûà, ©Ûé¶Ûà ÍÛ¾ÛÍýÛÛ…Ûé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 

    …¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¾ÛÛ× ¾ÛÛé¤øÛ ¸ÛÛýÛÛ¶ÛÛ Š²Ûé•ÛÛé¶Ûä× ¾ÛÐü«ÈÛ Í¸ÛÌ¤ø ïõÁõÛé. 

 

2. 1956¶Ûà …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÛé. 14 

    …¬ÛÈÛÛ 

 1991¶Ûà …Ûíé²ÛéÜ•Ûï õ¶ÛàÜ©Û¶Ûà …ÍÛÁõÛé ©Û¸ÛÛÍÛÛé. 

 

3. …Ûíé²ÛéÜ•Ûïõ ÜÈÛïõÛÍÛ¶ÛÛé …¬ÛÙ …Û¸Ûà, ©Ûé¶Ûä× ¾ÛÐü«ÈÛ Í¸ÛÌ¤ø ïõÁõÛé. 14 

    …¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¾ÛÛ× ÜÈÛ¶ÛàÈÛéÉÛàïõÁõ¨Û …¶Ûé ÜÈÛïéõ¶®ùàïõÁõ¨Û¶Ûà …Ûíé²ÛéÜ•Ûïõ ÜÈÛïõÛÍÛ ¸ÛÁõ¶Ûà …ÍÛÁõÛé ©Û¸ÛÛÍÛÛé. 

 

4. ½ÛÛ•ÛàþùÛÁõà ¸Ûé§øà¶ÛÛé …¬ÛÙ …Û¸Ûà, ©Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 14 

    …¬ÛÈÛÛ 

 ÈÛé̃ ÛÛ¨Û …ÛÈÛïõ ¾ÛÐü«Û¾Û ïõÁõ¶ÛÛÁõ ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé. 

 

5. (A) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 10 

  (1) ›÷¶Û©ÛÛ ¸Û“Û¶Ûà ÍÛÁõïõÛÁéõ _____ ¾ÛÛ× …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û¶Ûà ›ÛÐéüÁõÛ©Û ïõÁõà Ðü©Ûà. 

     (1973, 1977, 1971)  

  (2) ï×õ¸Û¶Ûà¶ÛÛ ¾Ûä”ýÛ _____ ¸ÛóïõÛÁõÛé ™öé. (…éïõ, ªÛ¨Û, ¼Ûé) 

  (3) ”ÛÛ¶Û•Ûà ï×õ¸Û¶Ûà¾ÛÛ× …Ûé™öÛ¾ÛÛ× …Ûé™öÛ _____ ÍÛ½ýÛÛé ÐüÛéýÛ ™öé. (¼Ûé, ªÛ¨Û, ˜ÛÛÁõ) 

  (4) ‘ÜÅÛ¾Ûà¤éø¦ø’ ÉÛ¼þù _____ ï×õ¸Û¶Ûà¶ÛÛ ™öé¦éø ¾ÛæïõÈÛÛé ¸Û¦éø ™öé. 

    (”ÛÛ¶Û•Ûà ï×õ¸Û¶Ûà, ›ÛÐéüÁõ ï×õ¸Û¶Ûà, ÍÛ×ýÛäî©Û ï×õ¸Û¶Ûà) 
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  (5) ËÛà ¸Ûà.ÈÛà. ¶ÛÁõÝÍÛÐüÁõÛÈÛ¶Ûà ÍÛÁõïõÛÁéõ _____ ÈÛÌÛÙ¾ÛÛ× ¶ÛÈÛà …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û¶Ûà ›ÛÐéüÁõÛ©Û 
ïõÁõà Ðü©Ûà.                           (1971, 1981, 1991) 

  (6) ½ÛÛ•ÛàþùÛÁõà ¸Ûé§øà¶ÛÛé µÛÛÁõÛé _____ ÈÛÌÛÙ¬Ûà ÅÛÛ•Ûä ¸Û¦éø ™öé. (1932, 1934, 1930) 

  (7) ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ï×õ¸Û¶Ûà¶ÛÛ ÍÛ½ýÛÛé¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà _________ ÐüÛéýÛ ™öé. 

    (¾ÛýÛÛÙÜþù©Û, …¾ÛýÛÛÙÜþù©Û, ÉÛæ¶ýÛ)  

  (8) ÈÛé̃ ÛÛ¨Û …ÛÈÛïõ ¾ÛÐü«Û¾Û ïõÁõ¶ÛÛÁõ ¾ÛÛé¦éøÅÛ ________ …é …Û¸ýÛä×. 

    (¼ÛÛé¾ÛÅÛ, ¾ÛÛÉÛÙÅÛ, ÜºõÉÛÁõ)  

  (9) 2006¾ÛÛ× …Ü©Û ¶ÛÛ¶ÛÛ Š²Ûé•ÛÛé ¾ÛÛ¤éø ¾Ûæ¦øà¾ÛýÛÛÙþùÛ  _______ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà. 

    (10 ÅÛÛ”Û, 25 ÅÛÛ”Û, 20 ÅÛÛ”Û) 

  (10) ½ÛÛÁõ©Û¾ÛÛ× ¼Ûàœ÷ ¸Û×̃ ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé ________ ¶ÛÛé ïõÐéüÈÛÛýÛ ™öé.  

   (ÊÈÛé©Û ’õÛ×Ü©Û, ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û, …Ûíé²ÛéÜ•Ûïõ ’õÛ×Ü©Û) 

  

 (B) ›Ûé¦øïõÛ× ›Ûé¦øÛé : 4  

A B 

1. …ÛÜ¬ÛÙïõ ÍÛäµÛÛÁõÛ a. ¾ÛÛé¤øÛé Š²Ûé•Û 

2. ïõéõÜ¾ÛïõÅÍÛ Š²Ûé•Û b. •ÛèÐü Š²Ûé•Û 

3. ˜Û¾ÛÙ Š²Ûé•Û c. 1991 

4. ¸Ûó¬Û¾Û …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û d. 1948 

____________ 
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Instruction : All questions carry equal marks. 

 

1. Define small scale industries and discuss their problems. 14 

    OR 

 Clarify the importance of large industries in India. 

 

2. Evaluate the industrial policy of 1956. 14 

    OR 

 Examine effects the industrial policy of 1991. 

 

3. Give the meaning of industrial development and clarify its importance. 14 

     OR 

 Examine the impact of disinvestment and decentralization on the industrial development 

in India. 

 

4. Give the meaning of partnership firm and explain its characteristics. 14 

    OR 

 Explain Sales Revenue Maximizing Model. 

 

5. (A) Choose the correct option : 10 

  (1) The Government of Janta Party declared industrial policy in _____. 

   (1973, 1977, 1971)  

  (2) There are _____ main types of company. (one, three, two) 

  (3) Minimum members of private company are _____. (two, three, four) 

  (4) The word ‘Limited’ is used for _____ company. 

   (private company, public company, joint company) 
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  (5) P.V. Narasimha Rao’s government declared new industrial policy in the 

year _____. (1971, 1981, 1991) 

  (6) Law of Partnership firm from _____. (1932, 1934, 1930) 

  (7) Generally, the responsibility of members in the company is _____. 

   (limited, unlimited, zero)  

  (8) Sales revenue maximizing model was given by _____. 

   (Baumol, Marshall, Fisher)  

  (9) In the year 2006, the capital limit was _____ for tiny industries. 

   (10 lakhs, 25 lakhs, 20 lakhs) 

  (10) The period of the second five year plan is known as _____.  

   (White revolution, Green Revolution, Industrial Revolution) 

  

 (B) Match the following. 4  

A B 

1. Economic Reforms a. Large Industry 

2. Chemicals Industry  b. Cottage Industry 

3. Leather Industry c. 1991 

4. First Industrial Policy d. 1948 

____________ 

 

 

 

 

 

 

 

 

 

 

 


